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The function g is defined by g(x)) = x* + 9. For
whichvalueofxi=%§?
° (A) 4 ™ shiF+
B) 5 x =25 sa’V\§
C) 9 Xx/}‘(ﬁ_ .

D) 13 / )
| PP @

‘)c_l-'r 722
.
dx+6 =18 —¢ n
W]:uch equation has the same solution as the given Fach face of a fair 14-sided die is labeled with a
equation? ) sl bt number from 1 through 14, with a different number
A) 4x = 108 {x= So\ : appearing on each face, If the die is rolled one time,
Bl - 3 what is the probability of rolling a 22
B) 4x =24 F=3
1 Sap]
C) 4x=12 U X = YK @E
D) 4x =3 _l2 ’
>W%
12
AT
13
A 14
The total cost, in dollars, to rent a surfboard consists
of a $25 service fee and @ $10 per hourjrental fee. A > Y
person rents a surfboard for ¢ hours and intends to ( Y 1 Y2 X -
spend a maximum of $75 to0 rent the surfboard. X £ o / ,@ \
Which inequality represents this situation? &
A) 10f < 75 o 4 P
B) 10 + 25¢ < 75 25 + A printer produces posters at a constant rate of
42 posters per minute. At what rate, in posters
C) 25t<75 p@does the printer produce the posters?
(D) 25+10t <75 | - _
; 7 22 s
35/ln Cale
-+
o D'e.S)no_S
——
g e
25 [lin \
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The function f is defined by the equation y = F3x
,f‘(:); 7x + 2. What is the value of f(x) when dx+y=15
7 (1) +2 The solution to the given system of equations

is (x, y). What is the value of x ?

B) 5 =
Brs (25

D) 45
8 )

A teacher is creating an assignment worth 70 points.
The assignment will consist of questions worth

1 point and questions worth 3 points. Which
equation represents this situation, where x represents
the number of 1-point questions and y represents the

D

number of 3-point questions?
A) 4xy =70 15 DW
B) 4x+y)=70 * 7
C) 3x+y=70 1 % +\3\¢ " ol L | L L1111
(D) x+3y = 70 5_/ | M N-.......-
slo% o .‘...-....
- III‘II-II--
-l {EEANEEEEEE
k | widedineh -..B.I.---
T JEEEENEEEEE
3 HEEEERNEEEE

Illlll‘llll
Right triangles I@N and p@z are similar, where L .
and M correspond {o Pand Q, respecuvely Angle M

has a measure of 53°, What is the measure of

Which of the fo]lowmg equations is the most
o gle Q ? ¥ IT

scatterplot?
2‘/ :)) Z A) y=-19x-10.1
) C) 127° y=-19x+10.1
D) 143° € y=19x-10.1

D) y=19x+10.1
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The graph of y = f(x) is shown, where the
function fis defined by f(x) = ax’ + bx’ + ex + d
and a, b, ¢, and d are constants. For how many

Vivian bought party hats and cupcakes for$71) Each

package of party hats cost $3, and each cupcake cost
$1, If Vivian bought 10 packages of party hats, how

many cupcakes did she buy?

3(/<>>+' /C - 71
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(22 +10z-24 =0

What is one of the solutlons to the given equation?

Bacteria are growing in a liquid growth medium,
There were 300,000 cells per milliliter during an
initial observation. The number of cells per milliliter

doubles 3 hours, How many cells per milliliter
15 5 Dwill there b&(15 hourslafter the initial observation?

7(1 1,500,000

B) 2,400,000
C) 4,500,000 .3

@ 9,600,000

Which expression is equivalent to 6x°y* + 12x%y% ?

6x2 2
?‘j\ 2}’2 x4
@A +2) 67y 22

D) 6x%y*(x* + 2)

Xz 2 ()3 (60 + 12(2) (SY
UB - 5 =
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A neighborhood consists of a 2-hectare park and a 4
35-hectare residential area. The total number of 501111 -+
trees in the neighborhood is 3,934, The equation

2% + 35y = 3,934 represents this situation. Which of
the following is the best interpretation of x in this
context?

A) The average number of trees per hectare in
the park

B) The average number of trees per hectare in
the residential area

C) The total number of trees in the park :
D) The total number of trees in the residential area 10 20 30 40 50 60 70180 90 100
: Comp

The graph shows the relationship between the
number of shares of stock from Company A, x, and

the number of shares of stock from Company B, y,
that Simone can purchase. Which equation could
represent this relationship?

1N
-

s
-

()
-

U
J Company B
S

D) 12x + 8y = 480

Circle A has a radius of 3n and circle B has a radius
of 129n, where n is a positive constant. The area of

circle B is how many times the area of circle A?

A) 43 R 77_(/2‘0\)7: _ /314
rees = = G
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